Red Swastika School
Primary § Sclence
Revision Paper 1

Name: _ | , ( )Data:
Claszs 1 PS ____ '

For Cuestions 1 &28, choosn ﬁu moat szﬁtab&a answand shade m number ln the
OAS provided. , ,

1, smdymamg:gamm AandB betow.

OrganiamA Ofganism B
Which set of information wvecﬁyd&ecribes ocgamsmsA and B?

OfgchA : S Orgamsma
Covmdwith - Hav-ﬁns ~ Cmvendwsm t{mﬁns S
scales scales L S
{1} No Yes* [ Yes = { . No
{201 No | . No o Ne v Yes
{3} ~ Yes B No ~ Noe 1 Yes
{4) No ‘ No o Yes  } Yes




Study the flow chart and plant X shown below.
- o i |

Does it grpwin water? : Yes. A

Does it reproduice by spores?|_. Yes -

e

Does it have a Stro'ng stem? ——-YEE;C

No

ol

Which of the following letters correctly represents plantX?
(1) A | e
(2) B
(3 C
4) D



The table below shows the characteristics of two organisms, A and B. A tick (')
indicates that the characteristic is observed and a cross {*} indicates that it is not
observed.’ '

Characteristics Organism A OrganismB |
ableto makefood | x v '
has spores e v R v
has flowers Chmpiiae ; x

Based on the ,,tab!e above, whrch (jf the following organisms wneéﬂy'feyjrésént :
Aand B? B e e R e RS

: Grganism B
wl e

@

@3

“

bread mould

bird's nest fem




4. Which of the following comparison(s) is/are false?

o Human, Circu!atcry‘system

P!antﬂTransport Syste_m e
[A | Has tubes that transport | Does not have tubes to transpork
| substances  substances :

‘B | Transports food pmduced by the ,Transports digested food only

- | leaves on!y :

C | There is no organ to pump the ',The heart pumps blood ihrough
. ~substances through the system Jthe system o
M A only G

: {2) ‘AandBonly
{(3) BandConly
(4) A and C on!y

srw«‘

5. The d:agram bemw shows how food and various gases are transported in.the

human body
_surrounding air - k : foéd
1 S ' '
v o
SystemP | - ' System R
J LN Ry l
: Noow
exhaled air SystemQ waste

Which of the following best identifies P, Q and R?

System P SystemQ System R
&) respiratory circulatory dig&cﬁve
(2) respiratory digestive circulatory
(3) circulatory digestive _respiratory
4) digestive respiratory circulatory




6. A group-of children were trapped in a liit. After one hour

, they felt very

uncomfortable as the types of gases in the air in the lift changed.

Which of the following shos&s corret;ﬂyv,zhe ichange in the amount of the types of
gases in the air after being trapped in the fift for one hour?

1)

)

(3)

4

Types of 'gases' in the air

Change in,tihye amount of gases
__ after one hour

oxygen

carbon dioxide

decreased

water vapour

~ syedfresame

Types of gas'es' in the air

; 'Cha‘n‘rge’ in the amount of gaseS-

, , ~__afterone hour
oxygen increased
carbon dioxide  increased
water vapour increased

Types of gasés,, in the air

Change in the amount of géses'

, after one hour
oxygen increased

carbon dioxide decreased
water vapour decreased

Types of gases in the air

Change in the amount of gases

, karftercne,hour
oxygen ,dec;'aased
carbon dioxide increased
: 'increased

watler vapour




7. The diagrams below show three cells, X, Y and Z.

(3)' They'have cytop!asm and a cell wall,
(4) They have a nucieus and acell membrane '



8.  The diagram below shows the human digestive system.

Three students each made a statement about the parts of the digestive system.

Ranesh: Digestion is completed here.
Lin Min: Digestive juices are added here.
Vivian:  Water is absorbed from the undigested food here.

Which of the part(s) P, @, R and S, match correctly to the statements made by

the three students?

Ranesh Lin Min ; . Vivian
(1) a | PO R
@ Q | PRQ s
(3) s  PRQ s
| S R,Q P




9.

Study the flower shown. -

Part(s) of the flower 1s!are removed Aﬁer some tnme the flower deveioped into
a fruxt thch part(s) was/were removed’) i

{(1)Aonly
(2) B only |
(3) A and B only

. (4CandDonly

10.

11

For an aduit plant to produce seeds, wh:ch process(es) must take place?

(1) germtnatlon

(2) fertilisation

(3) pollination and femitsatlon
{4) germination and pollination

A student made three statements about sexual reproducnon in plants: and
humans. , i

A Ferilisation occurs ina fema!e reproéucnve part,
B Reproductive cells are produced in the testes.
C The fahi‘sed egg is found in the ovary

Which of the fo!kmng shows the statements correctly matched to plants and
humans?

Plants = | H‘um‘ahé_ B

() AC | B
a2t |5
@[ Ac I KB
@ | A | ABC

| 3 ,



12.  Study the dispersal ofs’%ds by plants P, Qand R,

Key: seed parent p%ant wind direction

OB =

“;

Which of the fol!owmg correctly represents the seed dxspersa! method for plants
P Qand R respecnveiy” ‘

Plant P PlantQ PlantR
(1) animal : splitting wind
{2) splitting ; animal wind
(3) ~_animal wind ' splitting
4 wind animal splitting




13.  Jia En set up three arrangements of identical batteries, wares and bulbs as shown | in the

diagram below. ,
Set»up;\ : o _,SEt»"iV:p'kB . i Set’-‘u"pﬁ

, ,thichof‘ trhevfo}loiviyng_statements is correct?

(1) None of the bulbs will light up.

(2) Only the bulb in set-up A will light up. , : ;

{3) The bulb in set-up A will be brighter than the buib in set—up 8
: (4) The bulbs in al! three set-ups have the same bnghtness :

4. B;lly set up two circuits, A and B, as shown in the dxagram He wants to fi nd out if the7
number of batteries in a circuit affects the bnghtness of the bulbs. However, his brother
: says that hls expenment isnota fasr one.

-

woirdasrins
e el

circuit A circuit B
Whibh of the fouowing must Billy do to achieve his aim?
() Remove one battery from circuit A.
(2) Remove one bulb from circuit A.

(3) Add two bulbs in parallel arrangement to circuit B.
(4) Add two bulbs in series arrangement to circuit B.

10



15, S camected three objects, X, Y and Z, to. an electrical circuit as shown below
All the bulbs were in werkmg condition.

M2

T e l
' Whach of the fol!owmg isa poss;b!e o’bservanon

Y Eiectncal conductors , Buib(s) that lit up

{(1) {XandZonly | M1, M2 and M3 only
(2) [ X, YandZ  |M1,M2and M3only
(3) [YandZonly [ M2andMdonly
(4) | X, YandZ M3'and M4 only

16.  Zhi Ming wanted to find out how the brightness of the bulb is affected by the length of
wire A used in the circuit. He used the electric circuit shown in the diagram below to carry

out his expenment

Which «oﬂhe fbﬂoWing variables should be kept constant to ensure a fair test?

A: Length of wire A
B: Number of batteries used
C: Bnghtn%s of the bulb

H Amﬂy

(2) Bonly

(3) BandConly
(4) Aand Conly

11



17.  The diagram below shows the changes in the states of water.

’ melting , . evaporation
substanceA | - ~ water | | watervapour

'

process G R procéss D

Whach of the foaowmg correct!y represents substance A and prccesses C and D'7

substance A1 process C process D
1) ice - evaporation g q,m,e,lhng_,,
(2) e ~ freezing | condensation
(3)  steam boiling _ condensation
(4) | steam ~ freezing _ meling

18.  Two syringes ccntaihing differem‘ substances are: shownbelow

plunger -

stopper —3
' syringe A syringe B

Which of the following best explains why only the plungex for syringe B could be pushed
down but not ihe plunger for syringe A?

N Substarwe S has no definite volume.
{2) Substance S cannot be compressed.
(3) Substance R has no definite volume.
{4) Substance Tecan be compressed

12



19.

20.

The diagram below shows the water cycle. X and Y represent two different processes.

/ water yapour ,
\ CIouds . ’ ‘

Whrch ef the foﬂowmg statemeats is correct'?

1 Water !oses heat during j pmcess X

(2) Water gains heat during process Y. E
(3) Process X takes place at a fixed temperature EE
(4) Thene is no change in staie of matter when ram faﬁs from the ciouds

The table below shows the freezmg pomts and bomng pomts of 4 d:fferent substances
W, X, YandZ , e ;

Substance Freezing Point ("G} Boiling Point {°C})
W 43 200
X 15 , 55
Y © 1 100
Z Boioioirinbine 95

Which two of the substances are in the solid state at 30?58? ‘

(1) Wand X
(2YWandY
{(3) XandY
(4)XandZ

13



21.

22,

The diagram below shows a steel bridge with one end of the bridge fixed while a gap is
left at the oﬁzer end supported by mﬁers

fixed end of the
steel bridge

Why i is there a gap at one end of the steel bndge‘?

(1) To at!ow ﬁ'se steel bri decrease in volume due to expansxon ona coid day
(2) To allow the bridge to i mcrease in mass due to expansion on a hot day.

(3) To allow the bridge to increase in volume due to expansion on a hot day.

(4) To allow ihe bndge to decrease inmass due to contracnon on a cold day

A block of ice is placed in a cx;ssed’bbx; as Shown in mé diagram b"ezcw;,

B : .‘ *——-—*—— ——— box

ice

What will happen fo the temperature of the ice and the air in the box during the process
of melting?

Temperature of ice Temperature of air in the box
(1). remains the same decreases
(2) increases . decreases
(3) _ increases remains the same
4) decreases ~remains the same

14



%

- The diagram below shows a container that can be used 16 keep ice cubes duﬁng a

picnic. The ice cubes melt slowly when they are kept in the container.

St&dy the prdperﬁes of the four materials shown below.

fo ?rope

ty of material

Material , R
S _Canbendeasily | Canconduct heat easily
B yes no .
D no yes

Which material is the jmést suitable for making part X of the container?

1) A
(2) B
e
4D

15



24. Hassan set up an experiment as shown below.

themue’ier;,; thermometer

Y

girintheglass _§ -
- container '

' bmmn burner

He recorded the temperature on the two thermometers at negu!ar mtervais inthe
table shown below. : ,

e ~ Temperature on thermometers (°C)

| (mi;n) ' X - : Y
o 28 | 28
2 30 29
4 33 31
6 38 V .34

Which of the following can he conclude based on the results of the experiment?

A: Airis acon’da&rbf heat.
B: Air gains heat and expands.
C: Heat travels from a hotter region fo a colder region.

(1) Aonly
(2) B and Conly

(3) AandC only
(4) AandB only

16



25.

26.

Jordan threw the ball upwards as shown in the diagram below.
' Ay
3
* Which of the following is comect?
(1) The gravitational force acting on the ball at point A is more than that at point B.
(2) The gravitational force acting on the ball at points A and B are the same.
(3) The ball has more gravitational force acting onitat a height higher than point A.
(4) The ball has no gravxtat}onat force actmg on tt at point B.
~ Russell brought four magnets near each other and observed that they are attracted to
each other as shown in the diagram.
XN Z:
Y
Which of the following correctly identifies poles X, Y and z?
< \ — -
(1) South North North
(2)- |~ South North South
{3) North South North
{4} North : North South

17



27. Hannah hung different loads on two springs, X and Y. She observed and recorded the
extensxon cf each spnng when different loads were hung on it.

y

X

 Increase in length of th

—» Mass of the load.(g)

100

' Based on the graph whxch of the fo !owmg is correct?

B ¢ 1) Sprmg Y is !ess stiff than spnng X
{2) Spring Xand Y have the same stiffness. ,
(3) When aload of 100g was added, the length of spnng X is12cm.
'(4) When a load of Iess than 100g was added spnng Y extends iess than spring X.

18



28.  Melissa set up the experiment as shown below. All magnets used are identical in shape
and size. When magnet P was placed directly below magnet X, the wooden rod tilted as
shown in diagram 2. She recorded the distance as indicated in diagram 2.

“magnet X7

magnet X

P  2   i

The experiment was repeated by replacing magnet P with magnets Q, R and S.
The magnets are placed with the like poles facing each other. When different magnets
were used, the distance measured when the wooden rod tilted were shown in the graph

below.
distance
A
> magnet
P Q R 5
Based only on the results above, which of the following correctly shows the arrangement
of the magnets?
[Greatest magnetic strehgthk - ' > Least magnetic strength

(1) Q P S R
2 a S P R

(3 R P S Q

(4) R S P Q

END OF BOOKLET A
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Red Swastika School
Primary § Sclence 2022
 Ravision Paper 2
Namar____ £ o )Date:

Class P8

Answer ai! 8}0 qussnons in the apam pmvided

29 smmwmmpe&masmmmmmmmmem she
= noticed some dark-coloured orgarﬂmtsgmmngmﬂwecoeked buninset-up Y only.

Vsetwup‘x ROE e e  setup Y
. L - dark-coloure
box\ ____organisms
cooked bun placed in the cooked bun placed on the
~ freezer kitchen table
(a) Explain why ﬁuera was no dark-coloured arganisms growing on the cocked bun in set-up
- X{tm) :
{b) How do ths dark-coloured organisms on the cooked bun réprodut:a? {im)
2

19



29, Saminah repeated the experiment by puthng substance Tin the set«-up After one week,
she observed that there was less dark-coloured orgamsms growing on the cocked bun
compared to set«up Y as shown in the agram beiow

o \ ~ , dam—colaured
cooked bun——{- L S SepmEE S orgamsm

bowiw o £ = /substance’i' o

oooked bun placed on t'he,; i
kltchen tabte :

Ny,

, (c} Based on the observahon what could substance T have removed frcm the air in ihe
: box? (1 m) , '

20



30. Kai Xin removed some food-carrying tubes of the stem from a plant as shown below.

Part D

magnified view

: TT——u_ Part E

Aﬁer some ﬁme she measured ’the thxckness of the stems and recorded itin the table

below.

(@) Based on the data in the iable wﬁte D brf"E” in ﬁ;e‘b!anks to show the correct part she
had observed (1m) o ‘ ' :

| Part ' Day‘! Day 4 Day 7
W | “16om | ®em [ 20em
@ 160m ~ [ 16em | 16om

(b) Explain your answer in (a)(i). (2ni)f

Kai Xin wrote dawnfoufpaﬁs ofa plant as shown below.

roots | —>| stem leaves

{c) Draw 2more amows (—» )t’c}:Sﬁow‘ how water is transported in a plant, {1m)

21




31. Henry wanted to investigate the process of digestion in the human body. The diagram
shows two tubes, X and Y, with the same type of food, at the start of experiment.

| woey

CmbeX— 1| | L—

.....

___water at 37°C throughout

digestive juice 1.2
, ~ the experiment:

=

—— container

C 7 N\ =3 heatsouce

g 3

food . ,fc’od: \('C'u’f:;ntd smal!er pieces)

(a) Gweareason why Hemychose é;:iéhipéramré of 37°C for the water in the
~container. (1m) ‘ B B ‘ '

He recorded the data a's showmnthe t’abi'\e_beicw., ; .

Tubs | Amountof. -| Massof | Total surface | Time taken for the
| digestive juice | the food _area of the food to be digested
 used{em®) | (g} | food(cm?) | ‘completely (min)
Y 80 20 T E—T

(b) Based on the table, how does surface area of the food affect the time taken to digest
the food compietely? (1m)

(c)  Henry wants to reduce the time taken to digest the same amount of food completely.
- Suggest how he can change one variable in the table to achieve his aim. (1m)

22




: 32 Julia wanted to find out more about the human circulatory system. The table below
shows recetﬁs of her heart rates whz!e she was perfonmng d:ﬁ'erent aciwmes in a day.

Acﬁv‘iﬁes ' , Restmg : Waikmg i Runnmgy Sleeping
beatsfmtn [ e : , S -
60 | 70 100 , 60
62° | 75 | 105 |  s5
”65 : RIS 172 , 102: ‘ 0
(a) Julia reahsed that she had reoorded one of her heart rates wrongly | \

C:rcie the wrong readmg on the tabie above (1m)

b) Expiam your answer in (a). (1m)

{c) Juha observed that her breathmg r;ate increases when she was running. Explain why
her breathing rate increases. {1m) ;

23



33. Mrs Tan filled two similar pots, A and B, with an equal amount of sofl. She put‘ the same
typa of seeds into the pots and placed them next to a window where there is plenty of
sunhght and air. Mrs Tan watered the pots with an equal amount of water every day.

30seedsinPotA 5 seeds in Pot B

(a) Which pot, A or B, will contain taller plants after two weeks? (1m)

(b) Exp!ain‘ yau‘rf answer in (a). (tm)

24



33. After one month, the seeds grew info young plants: Mrs Tan studied the growth of
one plant closely at different stages, X, Y and Z as shown below.

green
leaves

- Part A
PartA |
N5
 Stage X StageZ.
(c) How does the plantin stage Y Obtaik:i;fobd‘?zﬁ m)
The graph below dispiays\‘ the mass of part A of the plant.
A
. Key
Mass (g)

: R vvisinnninns
S ===
To i

”~

Number of days

{d) Based on the above graph, which line, R, S, or T, best represents the mass of part A
of the plant from stage X to stage Z? Explain your answer. (2m)

25



34. Charmaine studied the life cycle of organism G as shown below.

2

(a) Charmame classrﬁed orgamsm Gasan msect Based on the diagram of the adult
: state\wo charactenstxcs of the aduﬁt that helped her to classify it as an insect. (2m)

She studned how the temperature of the swmundmg affected the life cycle of orgamsm;'
G. Her ﬁndmgs were recorded in the table be!ow

Temperature { °C) Number of days for one comp!ete life cyc!e
15 58
20 47
o5 =
30 : Q
3% , 16

(b) Based on the information in the table, what could be a possible value of Q7 (1m)

{c} From Charmaine’s ﬁndmgs what is the relationship between temperature and the
duration-of one comp!ete hfe cycle? (1m)

26



35.  Shantel has a oy house with four rooms. Sh\e' connecied the light bulbs in the rcoms
using the cirouit diagram shown below,

H : .
electrical L. (’; : ® : /
source | SwitchA| P
N ]
Lol m— , H
; : ' : + Room 1
! 5 i ! :
Room4 | ¥ / e '
| S i G
f DR o . i e . o o e . -«-,‘,~-:" SWitCh B a -'-';-'r‘q--'--‘«/-;...,;..'.. ...:
it St et R et Dt : SO SR -
; ' ' T '
Room 3 ® - : v ! Room2
. : AR B ?
Lo s s e o o e 2 e e ‘n-—--—nu;.;_;.....-.:

() How many bulbs will light up if only switch A is closed? (1m)

- {b}  Shantel closed switch A and switch B. fbulb S fuses, how many of the remaining bulbs
will light up? (1m) ' '

27



Shantel mada some changes and the new circuit diagram design is shown below.

SEEE , SR wall
| electrical ; G :":"f""'f',’,‘:"'",' ''''' , }/
o oooosource: ok ; b R , '
ok — ' (P '
, , —@E .
it ’ : : : : Room 1
} 3 s Lt
"Room4 ! o S ! ; Q !
LA g . ' M : 498 J
e Rt e S i ECHSRSERRIAR S S
S ::"  : ¥ T o :‘— ~~~~~~~~~~~~ -f-f"
o ; !
; :
Room3 : H [ Room 2
ittt IS ;
R | : : |
g ?—4 ~~~~~~~~~~~~~~~~~~~ L.,___...-_.__..__..__}

f ’Thxs new deSign aﬁowed Shante! to make one of the buibs a safety' hght whzch cannot
~ be sthched off , , ; : :

() wmcﬁfbuib; 'Pl, Ql‘R,j's or T, is the “safety” light? (1m)

(d) Shantlu osed three of the switches. Buib Swas one of the bulbs that hghted up Below
: - ' are som : ’poss;b!e observabons put atick ~ ) in the correct boxes (Zm}

' ,Observat:ons o ' ‘ Tri:‘e Fa!se ,thposszbie; to tell

(:) Bu b T dzd not hght up

(i) Bulb Q fighted up

28



36. Three identical containers, X, Y and Z, containing the same amount of water at different

lemperatures were placed on a table. Sarah made the following observation after five
minutes.

plastic lid

(@)  Arange the containers, X, Y and Z, based on the temperature of the water in them,
from the lowest temperature to the highest te’mpetatux:e. {1m) : '

{b)  Describe how the water droplets formed on the outer surface of beaker Z. (2m)

29



37. After a heavy rainfail, Hass:m nctlced that a pudd!e of water formed on the ground As
time passed, the puddle gradually became smaller. He measured the width of the
puddle at different timings of the day and recorded them in his notebook The w:dth of
«thepuddea!ﬁam ;sshowmnﬂ'zedaagram i ,

(a) Draw a nng in the dnagram above to show the s:ze of the pudd!e at 10 am. (1 m)

{(b) ¥Wno water w:as absorbed :ntn the ground exp!am why the puddle of water became
smaller over time. ( 1m) , , : :

Study the graph below LineA shows how the puddle of water of w:dth 100 cm changed

over time. ,
: Width of puddle
A :
» ; » Time
(c)  Whichline, X or Y, shows how the puddie of water of ‘width 100 cm will change on a
hotterday? (1m)




38.  Harold conducted an experiment in a dark room using the set-up below.
He wanted to find out how much light is reflected by material A.

light sensor with
datalogger

material A

(a) Forthe experiment to work, give an exanpie of the material for the box. (1m).

(b}  For the experiment to work, what property must the material in part (a) have? (1m)

e Ea T e

(¢}  Harold wanted to record the result as shown in the table. However, he mixed up the
values for the amount of light measured by the datalogger.

Using the values of 100, 150 and 200, wiite down the correct answers in the boxes in
the table below. (1m) :

Distance X (cm) 10 20 30

'Amount of light measured 0 "
by datalogger (unit) (ii) (iti)

31



30.  Victoria wants to build a shelf above her kett!e to store piast;c boxes. She does not
owant ?:ha p!astic boxes to be af{ected by the heat gwen off by the ketﬂe ‘

She conducted the follcwxng experiment to f’ nd out a suxlab height t
She filled a glass container with boiling water at 100°C and kept
‘throughout the experiment. 3he measured tha temperature '
X, fmm the water surface Sl i

thermometer

g!ass contamer

bo:imgwaterat ,

The resu!t ;s recorded in the mte bemw

sttance)((cm) : 15 20, 
, Temperature of  f o p
arr {"C) 58 N 40

\fciona wants the plast)c boxes fo be least aﬁected by the heat from the kettle
Based on the results of the experiment, what s the Iowest hegght from the kettleto
build the shelf? Explam why. {2m)

Lowest hezght cm .

. Explanation;

(b) 'Exp!am how usmg a glass oontamer allowed Victoria to obta:n a more accurate result
(1m)

32




40, Study the diagram below. When the switch in the c:rcust was closed, magnet Q moved
from gosstxon Rio posmen 8 as mdxcated by distance Y.

rolier plastic pole
wooden ;
stopper }
£ R " T ’ o
| ™
iron rod - wooden rod H
- BE TSR TS LI . B E)
\ anannann i 2
? \\‘ 8 ] \ magnet Q == 3
' A e , Lol
Tvuvdivve L —
Ao position \distance  position

(a)  Describe how closing the switch caused magnet Q to move. (2m)

(b Wxthout remavmg or replacmg any itemsin the set-up above, suggest two changes that
can be made to the above setnup such that ”dxstance Y” can be mcreased {2m)

Change 1.

Change 21 ___

(0 Magnet Qis replaced by block P. When the switch was closed, block P did not move.
: Give an example of a material that is used to make block P..(1m)

"~ END OF BOOKLETB _
PLEASE CHECK YOUR ANSWERS.







ANSWER KEY

LEVEL : PRIMARYS
SCHOOL : Rﬁﬁ SW&S? IXKA SCHOOL
323835{:3' £ SCSE&CE i
TERM ‘ b ,',REV!S!O& PAPER1
PAPERL =
QL |4 o2 |3 |3 |2 losa (2 165 |1
{as |3 |4 1a8 |2 Joo |1 Jawe |3
Qu |4 |1z |2 |13 |4 Q4 |4 |q15 |1
Q15 |2 |1z {2 |oi8 |1 jQi9 |4 jao |2
021 |3 |az2 |2 023 |3 Ja2a |3  Jaxs |2
lazs |1 |o27 |4 Jazs {3 | T
Q29 1]{a) "i"he bx.m in Set«up X was p!aced in the freezer which kept
il | thebuncold, not aiiowmg mould, known as dark-
coloured m'ganism to gmw éﬂe to a m;ssmg factcr,
: warmth.
‘11 {b) | The dark-coloured arganismsm tha cobked buns feeﬂ
| |onthe hreadto grow and repmduce hy smres.
(c) | Water vapour :
Q30 {{({a) {1} D
{h) Fmd made by the !eavescmﬂdnct by passeﬁ ;
1 transported the plant through the food-carrying tubes
and was aol!acted and unable to travel so it swelled up
1 and became thicker at D.
ey Steméiems
k?icwers
Q31 || [a) | 37°Cis the temperature of our body so he used 37°Cfor
' the water in order to create what wouid happen xf it was
- |in aurbody i
{1{b) | The more surface area exposeé the !ess*tzme taken it

H




Q37

{a)

ganm.

Bam.

(b)

The water dropiet gamed heat from the sun and the

e

surroundmg air and evaporated into water va pour ,
X. o -

ass

{a)

Metal

(b)

Must not ai!ow hght to pass through

(c)

i) [200

| i) | 150

|Gy | 100

Q39

(@

25cm ; : o

Explamataon. 25cm, 30em, 35cm all had same ammmt of
heat transferred to the p!astsc boxes. Thus, aﬂ the'.
temperature is constant. o

| (b)

Plastic wouid meltat 190"(:

Qa0

: ()

When the sw:tch is c!osed the iron rod becomes a

l electromagnet and repels magnet Q. As the magnetsc

force is stmng, Qis repe!led and moved backwards,

(b) |

Change 1 | Add more batteries to the iron rod set-up.

[t

Change 2 | Add more coils around the iron rod.

Plastic -

EnNP




31)C) To increase the amount of digestive juice used.
32)a)Sleeping=>0
b) When you are sleeping, the heart rate cannot be zero.

c)When she was running, more oxygen is needed, so the breathing rate increase so that
more oxygen can enter the blood and supply to other parts of the body.

33)a)Pot A

b)The seeds need sunlight to survive. As it is very crowded, the plants will grow taller
to obtain more sunlight.

c)From Part A at first and once the green leaves appear, the plant will make its own
food.

d)T as it contains the most food for the plant and will be depleted after some days.
34)a)lt has 3 body parts and 3 pairs of legs.

b)24

c)The higher the temperature, the shorter the duration of one complete life cycle.
35)a)0

b)a

c)Bulb P

d)i)Not possible to tell. il)Not possible to tell.
36)a)z, X, Y

b)When the colder surface of the container touches the hotter surface, the air in the
surrounding loses heat and condenses and water droplets are formed.

Pgl






